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éaating NMsAIANUAALaAIIIUAa’SaNFaUTUTA 16 (A1 K)

e ANUAlAN K =1
o lunsallasuiunatza @1 K avunnnii 1.04
o lunsalnavAurdudnLaaal K aaviiaanii 0.96

JunagsvaImsaau 1 4av yaa1 2,570,000.00 un

. 9107 1 514,000.- un
« a1 2 385,500.- v
« @ 3 385,500.- v
« 9617 4 642,500.- 1N
« 901 5 (gavi18) 642,500.- un

Ardaulstuidautlaaadilszninsial Sui 30 unsiau 2533
Io=112.2,Co=111.7 ,Mo = 126.7, So = 140.0

099U NANS

K= 0.25 + 0.15 It/Io + 0.10 Ct/Co + 0.40 Mt/Mo + 0.10 St/So

9911926 1 Juil 20 nsngiAu 2533

Adulsludauiidenaueu It = 115.8, Ct = 117.6 , Mt = 132.7 , St = 140.8

K = 0.25 + 0.15(115.8/112.2) + 0.10(117.6/111.7) + 0.40(132.7/126.7) +
0.10(140.8/140.0)

= 0.25 + 0.15(1.032) + 0.10 (1.052) + 0.40(1.047) +0.10(1.005)

= 0.25 + 0.154 + 0.105 + 0.418 + 0.100

= 1.027

A1 K tdaauudaelaitiu 4% 13'lasuiuaaLate
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d991uvIai 2 Juil 5 funau 2533

It = 116.7 , Ct = 127.8 , Mt = 135.1 , St = 140.4

K = 0.25 + 0.15(116.7/112.2) + 0.10(127.8/111.7) + 0.40(135.1/126.7) +
0.10(140.4/140.0)

= 0.25 + 0.15(1.040) + 0.10 (1.144) + 0.40(1.066) + 0.10(1.002)

= 0.25 + 0.156 + 0.114 + 0.426 + 0.100

= 1.046

a1 K ulasunilastdu 4% windu 1.046 - 1.04 = 0.006
agldsudunaein = 0.006 X 385,500 = 2,313.- un

99119267 3 Juil 20 narAu 2533

It =119.0, Ct=167.5, Mt = 137.2, St = 140.9

K=0.25+ 0.15(119.0/112.2) + 0.10(167.5/111.7) + 0.40(137.2/126.7) +
0.10(140.9/140.0)

= 0.25 + 0.15(1.060) + 0.10 (1.499) + 0.40(1.082) + 0.10(1.006)

= 0.25 + 0.159 + 0.149 + 0.432 + 0.100

= 1.090

a1 K uldsuuiadtdu 4% windu 1.090 - 1.04 = 0.050
ag'ldsuduaawiawin = 0.050 X 385,500 = 19,275.- v

f991uvIait 4 Suii 30 waainiau 2533

It = 119.5, Ct = 167.5, Mt = 137.2, St = 139.6

K = 0.25 + 0.15(119.5/112.2) + 0.10(167.5/111.7) + 0.40(137.2/126.7) +
0.10(139.6/140.0)

= 0.25 + 0.15(1.065) + 0.10 (1.499) + 0.40(1.082) + 0.10(0.997)

= 0.25 + 0.159 + 0.149 + 0.432 + 0.099

= 1.089

A1 K uldsunilastidu 4% windu 1.089 - 1.04 = 0.049

ag'ldsuduaawieaiin = 0.049 X 642,500 = 31,482.50 un



2991uv2a#l 5 Juil 15 unsau 2534

It = 119.1, Ct = 151.7 , Mt = 138.4, St = 137.1

K = 0.25 + 0.15(119.1/112.2) + 0.10(151.7/111.7) + 0.40(138.4/126.7) +
0.10(137.1/140.0)

= 0.25 + 0.15(1.061) + 0.10 (1.358) + 0.40(1.092) + 0.10(0.979)

= 0.25 + 0.159 + 0.135 + 0.436 + 0.097

= 1.077

A1 K ildauulasidu 4% windu 1.077 - 1.04 = 0.037
Tugnildeounsaunsdioi 4 ;a5 3u 149,600.- v Usenavdie

1. nsgauein 8 da 22,400.- 1
2. T6izdintlomg 8 1@ 12,000.- 1

J
vvvvv

4, \@3298UWAY 2 4a 3,200.- 1N
574 149,600.- 1N

gariy 9z 1dsuRuraise = (642,500 - 149,600) X 0.037 = 18,237.30 1N
s IdsuSuraenedaan (5

=2313 4 19.275 + 31,482.50 + 18,237.30
499)

=71,307.80 UM

asalN1sAUNUA K

guysnsadvulusiai 5 (vagavineg 15 unsrau 2534 ) da1auilgacig q a9il

It = 107.9, Ct = 110.5, Mt = 113.2, St = 135.2

K = 0.25 + 0.15(107.9/112.2) + 0.10(110.5 /111.7) + 0.40(113.2/126.7) +
0.10(135.2/140.0)

= 0.25 + 0.15(0.961) + 0.10 (0.989) + 0.40(0.893) + 0.10(0.965)

= 0.25 + 0.144 + 0.098 + 0.357 + 0.096

= 0.945

a1 K ulasunilasennin 4% windu 0.96 - 0.945 = 0.015
Tuaadifid1oudasizandu = (642,500 - 149,600) x 0.015 = 7,393.50 1w

sauvleﬁ%’nLﬁu?ij?jﬂﬁas’fmmw (5 9@) = 2,313 + 19,275 + 31,482.50 - 7,393.50 =
45,676.50 un
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